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Sy =8,-1=2(a,—a, ,)=pntpn—1) (nz 2) et (i), (ii)oll of5tof
a,=2a,_,+p (n> 2) = 0,2 o 2
a, =2a,_, +poIM a, +p=2(a,_, +p)o|22 1+4+16+6+24+10+64 =125
a, +p= (al +p)><2"71
=2px 2! 13. €8 o
o =p(2"—1) (nz 2) L, =1—48, a, =1—45, o YHS wjH
Sl =a, ole=z Apt1 Oy __4(5 Sn 1) 4(1”, 41 _30’71,'
_ 4
a,=p(2"—1) (nz 1) a,=a(=3)""'(n2 2), a,= 40192 4= 2, a=—
6 6
pra, p+a 4
k=1 %+ 1 _1;1 ak<2ak+p) S _2_7)( 3" nz 2),




14. €E8) @

(i) a, == z7} 32| Bi%Y O,

Tz 4 15
a5=§, a4+a5=x+§=§ =5,x=Z
39| Hf==7t ofL| B2 RO X =Lt

(ii) a, =z, 7} 32| Hix=7} O f,

5142"‘5 2 +5
as = 3 = 3
22 +5

ay,+ta;, =x+ =5, 3r+2°+5=15

22 +3x—10=(z+5)(x—2)=0
a, =2 L= 5

OIMIFE a3, ay q; 22 a, b, c2f St, Z142| B0 32

2|
Hf==Qf 32| Hix=7t Otd M= ZRE LI U= +ot
Q) a, =2Y j,

a0 32| Hj4= mj, __2 ay =6,
a;>+5 )
a;0| 32| Hi==7} O I, =2,a,"=1,a;,=1, —1
©) a,=—5Y
ol 39| HIAY o - -
a0l 39| Hi= mj, 5 =5 4 ="15
2
a;0| 39| Hi==7} ot =—5, a,> =—20
. 7|’%-§ a/39| ﬁ% 67 17 _17 _157
(@) a; =6 0,
A0l %
a, 7k 32| B¢ o, 56 0,=18
2
+5
0,7 39| B4t opd o, 2=, a,> =13, a, =+ /I3
(b) ay =1% M,
I} 30/ iAo, 2= =
a, 7t 32| B¢ O, 5L a=3
2
a”+5 )
a7k 39| Hi==7} ofd I, =1, a,> =—2
ZHO| *X| @b=Ct
© a;=—1¢ i,
A0l %
a27|' 39' |:|H—|—E [[H, 32—1, ag :—3
2
ay,” +5 )
a,?t 32| Hijs=7} ot i, =—1, a,” =—8§,

(d) a; =—15% I,

w7t 39l MY W, 215, 0, =15
2

3 2
a,?t =—15, a,” =—50

ZH0l| K| gb=Ct
L 7kt a,0 22 18, +£v13, 3, —3, —45
@D a,=18¢Y

a
a,0| 39| Bi$Y o, 5:18, a, =54

*+5
=18, a; =49, a, =%7

a,
all_ Xl-g_?oll:lg al _7
@ a, =+ /13 Y 1,
a
a,0| 39| Hi% o, ézi 13, a, =+3+/13

Xpl==7} OfL|E 2 QHESIX| Q4eCt

2
5
a, 0 32| Hi= =+ V13
Atel==7t OfLIE2 RHESHA| R=C
® a, =3
0,01 3| Hj+2 o, —_3 4 =9

2

5
a,0] 39| b= =3, a,° =4, a, =%2

a1|_ Xl-gzlk_oltIE 0/1 _2
@ Ay :_3OEI [[H:

29 !
a,0] 32| Hi= mj, 3 3, a, =9

A7t Ot 22 BHESHA| GEC

ST

2

a

RtGi==7t ofL| 22 PHESEX| =Lt

® a, =—45

Rtis=7t ofL| 22 THESHX| @=Lt
54, 7,9, 2, 54+74+9+2=72

5 [l ©

[Gi4]
a, < 40|H a,
Sk=Ct J2{8=% q, > 40|12 a, = a0l a, = 50|C},
>39 M, a; =a,0M a; =50|10

a, < 3Y f, ay =7—a; =50|M a; =20|C}
(i) a5 =59 &2

® a, > 20|H a, = a;0M a, = 50|C},

a, > 19 ©f, a; = a,0A a, =50|12

a, < 19 @, a, =1—a, =50l|A| a, = —40|C},

- 12 -

=10—a, =50IM a, =50|B2 a, < 45 CI=ZA|7|3|



@ ay < 20|H a; =4—a, = 50X a, = —10|C},

a, > 19 ©, a; =a, = — 10|22 q, > 12 B=ZA|7|Z]|
o4=Ct
a £ 19 ™, a,=1—a, = — 10X @, =20|22

0 € 12 BEAZ|R| QECt,
® a, > 20|H a, = a,0|M a, =20|22 a, > 25 PFA[7|Z|

@ a, < 20|H a; =4—a, =20{|M a, =20|C},

a, > 19 @, a; = a,0M a, =20|12

a, < 12 o, a,=1—a, =20|M a, = — 10|},
(i), (i)OIM a, =5 E= q, = —4 E= g, =2
E= a = —10|C}. T2tM Hol= 2E 0,9 e =2

5 (—4)x2x(—1)=40
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